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QUESTION 1. (5 points) Given two lines L :

=342y =2t+4.:=10t+4 (¢t e RMyand L> : v = 6w — 7.
y=6w —6.x= 3w +20 (e € R). Given that L, intersects L» in a point Q. Find Q.
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QUESTION 2. (9 points)
Given that 1 = (0.4.8).¢> = (2. 1.

6). and ¢35 = ( 6.8.2) arc not co-lincar

a) Find a vector F that is perpendicular to both vectors ¢ and 13
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(b) Find the cquation of the planc. say P, that passes through ;. ¢a. ¢3
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(c) Find a vector F' such that | F| = 57 that is perpendicular to both vectors ¢q3 and ¢ 43
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QUESTION 4. (3 points) Iind the equation of the tangent hine to the curve [ 1) Gl - 3= 20
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QUESTION 5.49 points) Find 1 but do not simplify
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QUESTION 7. (12 points) Let f(r) = 2% - 1227 + 1.
(i) For what values of . does f(.r) increase?
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(11) For what values of .« does f(.r) decrease?
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(it1) Find all .r values where maximum and minimum occur.
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(iv) Sketch the graph of f(.r).
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QUESTION 8. (Y points)
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QUESTION 9,43 points) Find the volume of the object after rotating
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